[ Efficiency vs vertpos |
~ 0.5

R RN N S— —
% E : : :

T S S SRR,
o : : :
G007 -werereinereeeees R e
] . .

B 0.06F oo R R e
0.05
0.04
0.03
0.02F

..................................

0.0 -**—- b R

L0 B R AR EY RN A )
3 B 151 Al
1

10 0?
TP vertr (cr%)

ml;{

— Q IIﬂ{VCL,lUI TOUOUEVT
——
Efficiend —— %g

0.05 E I%ggégg%%mﬁ TR TLIER 1000evt

L S S

o E ; - - ;
L R | R S
> - . . . . .
] E : : : : :
H.035 -+ 0 | B I A F S R .
20,09 o[l
o E : : : : :
0.025;— ------ R | R CEEEERE R R [EEEEREE
0.02F e[ i
0,018 -
.01+ ; ;

0.005F -+t

g N

30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0




	Contents
	Page 1


